



(An Autonomous Institution) Coimbatore-641035.

# UNIT-V LAPLACE TRANSFORM

Definition, Properties, Existence condition

UNIT-I LAPLACE TRANSFORM Conditions Lransferm; (i) f(t) should be continuous or precevous commu or a signilier Laplace Transformation sonamed after a great French Mathematician Pierrel Sinton De Laplace (1749-1827) Who used such transformations in the " Theory of probability". theory of probability". exponentic Uses of Laplace Transformation: order if 1. It is used to find the solution of linear differential equations - Ordinary as well as partial. a. It helps in solving the differential equation with boundary values without finding the general solution and then finding the values of the arbitrary constants Transformation ; A transformation is an operation which converts mathematical expression to a different but THE equivalent form. Inti apply L Ho Laplace Transformation : Definition : & Let f(t) be a function of t defined for tro Then the Laplace transform of f(t), denoted by 1 { f(t) } or F(c) is defined himstogx > 10 ton or F(s) is defined by,  $\sum \left[f(t)\right]^{\frac{1}{2}} \int e^{-st} f(t) dt^{\frac{1}{2}} = F(s) \quad \text{and} \quad t \in \mathbb{R}$ Provided the integral exists. 0 = 0º 9 ·= is not of exponential order





Definition, Properties, Existence condition

(An Autonomous Institution) Coimbatore-641035.

# UNIT-V LAPLACE TRANSFORM

Conditions for existence of Laplace transform: (i) f(t) should be continuous or piecewise continuous in the given closed interval [a,b] where a>0 (ii) f(t) should be of exponential order. Exponential order : A function f(t) is said to be of exponential order if, Partial Example : 1. Ea is of exponential order -St  $f(t) = \int t e^{-st} t^2$ on is an operation which convert and mars) the set  $(\overline{b}_{t} + \infty) = \frac{t^2}{e^{4St}}$ Ś Indekami = Lt 2t mobility of t-100 setstanoit apply L' Hospito or 2 to benifor the normalization of  $t \to \infty$   $\frac{2}{s^2 e^{5t}}$   $\xi(t) = 2, \quad e^{t^2 + is}$  not of exponential order. = 0  $\begin{array}{ccc} Lt & e^{-St} \\ t \rightarrow \infty \end{array} \begin{array}{c} e^{-St} & f(t) \\ t \rightarrow \infty \end{array} \begin{array}{c} e^{-St} & e^{t^2} \\ t \rightarrow \infty \end{array}$  $= e^{\infty} = \infty$ in not of exponential order.





(An Autonomous Institution) Coimbatore-641035.

# UNIT-V LAPLACE TRANSFORM

Transforms of elementary functions formula  
1(1) = 
$$\frac{1}{5}$$
 where  $S > 0 + s = 12 = x + 300$   
proof:  
 $1 + Sf(t) = \int_{0}^{\infty} e^{-St} f(t) dt = (1) + 1$   
 $1(1) = \int_{0}^{\infty} e^{-St} f(t) dt = (1) + 1$   
 $1(1) = \int_{0}^{\infty} e^{-St} f(t) dt = (1) + 1$   
 $1(1) = \int_{0}^{\infty} e^{-St} f(t) dt = (1) + 1$   
 $1(1) = \int_{0}^{\infty} e^{-St} f(t) dt = (1) + 1$   
 $1(1) = \frac{1}{5}$   
 $1(1) = \int_{0}^{\infty} e^{-St} f(t) dt = (1) + 1$   
 $1(1) = \frac{1}{5}$   
 $1(1)$ 





(An Autonomous Institution) Coimbatore-641035.

#### UNIT-V LAPLACE TRANSFORM

$$\begin{aligned}
\int (t^n) &= \int e^{-St} t^n dt \qquad \text{if } t = (t) \\
Put \quad x = St \Rightarrow dx = S dt \qquad \text{if } (t) \\
\frac{dx}{S} = dt \\
\downarrow (t^n) = \int e^{-x} \frac{x^n}{(s)^{n+1}} dx \\
\frac{\int (t^n) = \int \frac{\pi}{(s)^{n+1}} = \frac{\pi}{(s)^{n+1}} \\
= \int e^{-x} e^{-x} x^n dx \\
\downarrow (t^n) = \int \frac{\pi}{(s)^{n+1}} = \frac{\pi}{(s)^{n+1}} \\
= \int e^{-x} e^{-st} e^{-st} dt \\
= \int e^{-(s-a)t} \int e^{-st} e^{-st} dt \\
= \int e^{-(s-a)t} e^{-st} e^{-st} dt \\
\downarrow (e^{-at}) = \frac{1}{(s-a)^n} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-st} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-st} e^{-at} dt \\
\downarrow (e^{-at}) = \int e^{-st} e^{-s$$





(An Autonomous Institution) Coimbatore-641035.

#### UNIT-V LAPLACE TRANSFORM

$$= \int_{a}^{\infty} e^{-(s+a)t} dt : (1a h a) (1 - bai) = a^{-1}(a)$$

$$= \int_{a}^{a} e^{-(s+a)t} dt : (1a h a) (1 - bai) = a^{-1}(a)$$

$$\frac{1}{1(e^{-1}) = \frac{1}{1+e^{-1}} + \frac{1}{16} + \frac{1}{$$





(An Autonomous Institution) Coimbatore-641035.

#### UNIT-V LAPLACE TRANSFORM

(b) To find 
$$L(\cosh at)$$
:  
 $L(\cosh at) = L\left[\frac{1}{2} - \left[e^{at}_{1} + e^{-at}_{1}\right]\right]_{1}^{1} + \left[e^{-at}_{1}\right]_{1}^{1} + \left[e^{-a}_{1}\right]_{1}^{1} + \left[e^{-a}_{1}\right$ 





(An Autonomous Institution) Coimbatore-641035.

# UNIT-V LAPLACE TRANSFORM

(\*) 
$$L(\sqrt{E})$$
.  
 $L(\sqrt{E}) = L(t^{1/2})$   
 $= \frac{\Gamma_{1/2} + I}{S^{1/2} + I} = \frac{I/2}{S\sqrt{S^{2}} + I/2} = \frac{I/2}{S\sqrt{T^{2}}} \cdot \frac{J}{S^{3/2}} \cdot \frac{J}{S$ 





(An Autonomous Institution) Coimbatore-641035.

# UNIT-V LAPLACE TRANSFORM

(\*) Find 
$$\bot (\sin st)$$
  
 $\bot (\sin st) = \frac{5}{s^2 + s^2} = \frac{5}{s^2 + a^5}$   
(1) Find  $\bot (\cos bt)$   
 $\bot (\cos bt) = \frac{5}{s^2 + b^2} = \frac{5}{s^4 + a^5}$   
(2) Find  $\bot (\sin^2 at)$   
 $\lim_{t \to \infty} t = \frac{1 - \cos at}{2}$   
 $\bot (\sin^2 at) = \bot [\frac{1 - \cos at}{2}]$   
 $= \frac{1}{a} \bot (1 - \cos at)$   
 $= \frac{1}{a} [ \bot (1) - \bot (\cos at)]$   
 $= \frac{1}{a} [ \frac{1}{s} - \frac{5}{s^2 + 1b}]$   
(2) Find  $\bot (\cos^2 3t)$   
 $\cos^3 t = \frac{1 + \cos at}{2}$   
 $\bot (\cos^2 3t) = \bot (\frac{1 + \cos at}{2})$   
 $= \frac{1}{a} [ \bot (1) + \bot (\cos bt)]$   
 $= \frac{1}{a} [ \bot (1) + \bot (\cos bt)]$   
 $= \frac{1}{a} [ \bot (1) + \bot (\cos bt)]$   
 $= \frac{1}{a} [ \bot (1) + \bot (\cos bt)]$   
 $= \frac{1}{a} [ \bot (1) + \bot (\cos bt)]$ 





(An Autonomous Institution) Coimbatore-641035.

# UNIT-V LAPLACE TRANSFORM

(\*) Find 
$$L(\cos^{3} at) + (\cos at) + (\cos at) + (1)$$
  
 $\cos^{3} a = \frac{1}{4} (\cos^{3} at) + 3\cos^{2} at)$   
 $= \frac{1}{4} \left\{ L(\cos^{5} at) + 3\cos(at) + 3\cos(at) \right\}$   
 $= \frac{1}{4} \left\{ L(\cos^{5} bt) + 3L(\cos^{5} at) \right\}$   
 $= \frac{1}{4} \left\{ \frac{5}{5^{2}+3^{4}} + 3 \cdot \frac{5}{5^{2}+4} \right\}$   
 $= \frac{1}{4} \left\{ \frac{5}{5^{2}+3^{4}} + 3 \cdot \frac{5}{5^{2}+4} \right\}$   
 $= \frac{1}{4} \left\{ \frac{5}{5^{2}+3^{4}} + 3 \cdot \frac{5}{5^{2}+4} \right\}$   
(\*) Find  $L(\sin^{3} 3t)$   
 $\sin^{3} a = \frac{3\sin^{2} - \sin^{3} 3a}{4}$   
 $L(\sin^{3} 3t) = 1 \left[ \frac{3\sin^{3} at - \sin^{3} (3t)}{4} + \frac{1}{5^{2}+3^{2}} \right]$   
 $= \frac{1}{4} \left\{ 3L(\sin^{3} at) + L(\sin^{2} at) \right\}$   
 $= \frac{1}{4} \left\{ 3L(\sin^{3} at) + L(\sin^{2} at) \right\}$   
 $= \frac{1}{4} \left\{ 3L(\sin^{3} at) + L(\sin^{2} at) \right\}$   
 $= \frac{9}{4} \left\{ \frac{4}{5^{2}+9} - \frac{1}{5^{2}+81} \right\}$   
(\*) Find  $L(\sin^{2} at \cos^{3} at)$ .  
 $\sin^{2} \cos^{2} B = \frac{\sin(A+B) + \sin(A-B)}{(A+B) + \sin(A-B)}$   
 $(a^{1}) - \frac{3}{4}$ 





(An Autonomous Institution) Coimbatore-641035.



UNIT-V LAPLACE TRANSFORM

 $= \frac{1}{2} \left\{ L \left( S_{in} S_{t} \right) + L \left( S_{in} \left( -t \right) \right\} \right\}$  $= \frac{1}{2} \left\{ 2 \left( Sin 5t \right)^{2} + 2 \left( Sin t \right)^{2} \right\} = \frac{1}{2} \left( Sin 5t \right)^{2} + 2 \left( Sin t \right)^{2} \right\}$  $= \frac{40}{2} \left\{ \frac{50}{5^{2}+25} - \frac{1}{5^{2}+1} \right\} = \left[ \frac{1}{50} + \frac{1}{50} \right] \left[ \frac{1}{50} + \frac{1}{50} \right] = \left[ \frac{1}{50} + \frac{1}{50} + \frac{1}{50} \right] \left[ \frac{1}{50} + \frac{1}{50} + \frac{1}{50} \right] = \left[ \frac{1}{50} + \frac{1}{50} + \frac{1}{50} + \frac{1}{50} \right] \left[ \frac{1}{50} + \frac{1}{50} + \frac{1}{50} + \frac{1}{50} \right] \left[ \frac{1}{50} + \frac{1}{50} + \frac{1}{50} + \frac{1}{50} + \frac{1}{50} \right]$